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Puzzle 1: Placing the numbers 
 

 

4 34 208 3048 75280 

2 15 269 3614   

3 63 807 9514   

1   895     

 

Place the numbers above into the grid below. 

Numbers on the sides of the grid reveal the count of  the digits on the respective row or column. 

No digit is repeated in a row or a column. 

The numbers do not touch each other, even diagonally. 

                                                            

                          5           Example:                 

                          0             3   9   1 7 2 5     

                          5             9             1     

                          3                 3   7   1 3     

                          3             5       8   7 3     

                          2                 6         1     

                          0           8 2   7   3 0 9 6     

                          10                 2         1     

                          1             7   5   2   6 4     

                          3           1 5 0 6 0 5 2 5       

                          4                                 

                          3         2 3 5 6 7 9 

  8 0 1 2 9 1 0 2 6 2 1 7           17 39 78 82     

                                    172 309         

                                    6725           

   
 
 
If the answer to be entered according to the example is -6676, find the answer of the puzzle.  
(+39-9+172-3+78-17+5-6725+82-309+7-2+6) 
 

 


